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AB = 12cm

Perp. Bisector with arcs-2 sets for AB

Accurate trapezium cao.

Strict ft of their angle ABC (+2 %)
7

tanB=)

(tanB =) 15

779 final answer
Arc, centre D, radius 5 cm

Bisector of their angle D with arcs

Correct shading cao.
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All measurements +2 mmor 12 °

'SC1 if accurate without arcs

dep. on B in (a) and at least SC1 in (b).
SC1 for DC = 9cm and parallel to AB

or (sinB=) 7 or (cosB=s) 15
V(7+1.5% N(7+1.5%)

Indep
No gaps in the trapezium, but condone extra
SC1 if accurate without arcs

dep. on B1 in (i) and at least SC1 in (ii)
and a correct trapezium






